lirgblems for Section 5.1

3. A car comes to a Stop six seconds after the driver ap-

11.

15.

locity, v, of e

plies the brakes. While the brakes are on, the velocities
recorded are in Table 5.4.

Table 5.4

Time since brakes applied (sec)
— —— > ©U Draxes ap|
Velocity (ft/sec)

(a) Give lower and upper estimates for the distance the
Car traveled after the brakes were applied.

(b) On asketch of velocity against time, show the lower
and upper estimates of part (a).

S. The velocity of a caris S(t) = 5t meters/sec. Use a graph

of f(#) to find the exact distance traveled by the car, in
meters, from ¢ = 0 1o ¢ = 10 seconds.

A village wishes to measure the quantity of water that
is piped to a factory during a typical morning, A gauge

on the water line gives the flow rate (in cubic meters per

hour) at any instant. The flow rate is about 100 m® /hr at

6 am and increases steadily to about 280 m®/hr at 9 am.

Using only this information, give your best estimate of

the total volume of water used by the factory between 6
am and 9 am.

Two <.:ars start at the same time and travel in the same
direction along a straight road, Figure 5.11 gives the ve-
ach car as a function of time, ¢. Which car:

(a) Attains the larger maximum velocity?

(b) Stops first?

{¢) Travels farther?

v (km/hr)

Car A

Car B

- t(hr)
Figure 5,11

19. The value of a mutual fund increases at a rate of R —=

500%™ dollars per year, with ¢ in years since 2010.

(a) Usingt =0,2,4, 6, 8, 10, make a table of values for
R.

(b) Use the table to estimate the total change in the value
of the mutual fund between 2010 and 2020.

Problems for Section 5.2 Qﬂme wo K # / 15
1. Estimate /6 2% dx using a left-hand sum with 7, — 2. Mﬂ{l" a,/

5. Use the following table 1o estimale j;)ls Sf(z) dz.
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Figure 5.24

Area = 6

Problems for Section 5.3 ;
e Figure 5.34

5. (a) What is the area between the graph of f(z) in Fig-
ure 5.34 arsld the z-axis, between ¢ = () and z = 59
(b) Whatis [° f(z) dz? '

13. Given fo f(x)dz = 4 and Figure 5.38, estimate:. -
. -2

@ [, flz)ds ® [?, fz)dz
(¢) The total shaded area.
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Figure 5.38

18. Use Figure 5.39 to find the values of
@ [°f(z)dz ® [ f(z)do
© [°f(z)dz @ [°|f(z)dz

Area = 2

Figure 5.39
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